Fake rate vs dxypv

S = [ P T o S
g T :
X L
2 [
©
@ 08F----- :
> L
s [
s |
R Y- SRR SO S S S
E -
0.4
0.2 --enn i
o~ ;
I
@
0% =15 —10 5 0 5 10 15 20

track dxy(PV) (cm)

[ Duplicates Rate vs Dxy(PV) |

<0.0%
%.009)
X
$.008]
9.007
9
£.008
2
'9.005
9.004
=l
0.003
0.002
0.001

q

Ratio

0.5

201510 5 0

5 10 15 20
track dxy(PV) (cm)

Pileup rate vs dxy(PV)

$0.05
$.045
3
S0.04
>
035
g
20.03
3
$.025)
o
0.02)
0.015

=
T

=20 -15 -10 -5 0

5 10 15 20
track dxy(PV) (cm)

Fake rate vs

—— DQM_original_originalvector_1000evt
—— DQM_original_1000evt
—— DQM_fitted4_1000evt

B---

o
o2}

fakerate vs dxy(PV)
o
o]
T

o
N

I
)

Ratio

3

0.

FERRETPE

Fake rate vs dzpv

=0.8-0.6-04-02 0 0.2 04 06 0.8
track dxy(PV) (cm)

1|—----:.

fakerate vs dz(PV)

Ratio

0.95!

Fake rate vs dzpv

0

10 20
track dz(PV) (cm)

0.8

T T Ty

0.6

fakerate vs dz(PV)

0.4

0.2

Ratio

0

0.5 1
track dz(PV) (cm)

30

;0.01
%.009)
X
9.008
>
9.007
©
£.006
3
©.005
$.004
k=]
0.003
0.002
0.001

q

Ratio

0.5

DE0604-02 0 02 04 06 08

track dxy(PV) (cm)

[ Duplicates Rate vs Dz(PV) ]

5003
%.009
k=]
©.008
$.007
©.006
@
$.005
Q.
3.004
0.003
0.002
0.001

Ratio

-10 0 10 20 30
track dz(PV) (cm)

icates Rate vs Dz(PV) |

0.5 1
track dz(PV) (cm)

-1 -0.5 0

le
o
N
ol
bl v L b

0.

=0.8-06-04-02 0

Pileup rate vs dz(PV)

0.2 04 06 08
track dxy(PV) (cm)

$0.05
$0.045,
o
20.04
$9.035
20.03
2
.025
0.02
0.015
0.01

=
T

-10 0

Pileup rate vs dz(PV)

10 20 30
track dz(PV) (cm)

L}
-

1

[

o
o
T

pileup rate vs dz(PV)
o
o]

-

I

T
i

0.5 1
track dz(PV) (cm)



	Contents
	Page 1


